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2.2.4 Factoriser :

a) 22+ 52+ 6 e) 922+ 6z + 1 i) 622+ 5z +1 m) 40z? 4 3z — 28

(xxa)(xth) = 22+ @ib) o « 2k

ox + b + 6 = (oc+2 )(DC+3)

2+3 23
*-5x 16 = (x -3 )(9&“3)
2 — o =4 2(-’L+2>(9Q"g>
<t 4 —6 = (x-2)(=T3)
2
e) 922 4 6z + 1 = (-%X +/ )
f) 422 + 52 +1 = (Ll-?: + ’{)(% + 7)
g) 2 —-2x—80 = (DL —40)(1—# 3)
h) 3y?+ Ty +3 / (37+4 )(7 ’LB) = 2\/2 = Aoy 3
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i) 622 + 5z + 1 —= (Zx—l—/l (ZY-F //)

i) 22—22z+85 = (x—=M1)x-5)

k) >+ 1 +1 Ne s éA(Aor(x pad X2t X+ 4= 0
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m) 40z° + 3z — 28
n) a?+9a — 10 -

0) 2x? — 5x — 2
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